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QUESTION 1

Which BASE-T Ethernet standard specifies a CAT6 cable type? 

A. 2.5GBASE-T 

B. 5GBASE-T 

C. 10BASE-T 

D. 10GBASE-T 

Correct Answer: D 

 

QUESTION 2

Which topology is considered a best practice when stacking switches? 

A. Ring 

B. Cascade 

C. Serial 

D. Daisy-chain 

Correct Answer: A 

 

QUESTION 3

Which Layer 1 device can be used to enlarge the area covered by a single LAN segment? 

A. Router 

B. Repeater 

C. Switch 

D. NIC 

Correct Answer: B 

 

QUESTION 4

What does the switch do with the frame? 

A. Flushes the destination MAC address and updates the MAC address table in the switch. 

B. Adds the source MAC address and port to the MAC address table and forwards the frame. 
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C. Discards the frame on all ports and sends an error message back to the host. 

D. Floods the frame to all ports except for the port the frame originated from to locate the source MAC address. 

Correct Answer: B 

 

QUESTION 5

Which formula is used for calculating OSPF interface costs? 

A. Reference bandwidth ?interface bandwidth 

B. Reference bandwidth / interface bandwidth 

C. Reference bandwidth + interface bandwidth 

D. Interface bandwidth / reference bandwidth 

Correct Answer: D 
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